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↑Remem.
---

Problems : Linear model
=> Cannot generatea
"limit cycle!

Limit cycles require
G order nonlinear system

.

the startup condition.

But it is OK
to study

Negative
Resistance" Model

Ionlinear-
&

V = f
,
(l) = IR
I = f(V) =- fy()

==

Mos L

I = fz(v) where Ez(x) is nonlinear
.

I = V+ 3



> Ez-odd function F(-V)
= - fz (v) = -I

< E-limiting behavior.

fz -> approximately
linear for small

V .

Fy(n)-> -
when

fz(x) = tank (2) ↳
odd In

tanh(x) = x-35 + 0(7) - limitingor

↳In for no

*me

A

lote : In reality tomustbederived fromaa
large signal
active network
.
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